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Topic:- General Hindi

1) ¥ i Yel & SMYUR R P aiferdl ueferd Yedt 8l
1. St

2. faym

3. TF HTHT

4. ITSTHTST

Correct Answer :-

2) U R &) 1Y gt AfE,
A & o | W e e
SHH B 9T APR 22

1. SR SAdR

2. XY 3ABR

3. JUHT 3APR

4, TUDH ADR

Correct Answer :-

o JfaeEifed IEHR

3) o 9 AR, T A e W 8,
IS G AT ISP, A HIS 9 U

3ITT Wl 8T, §TY WIElt SITE,



a7 foreq «ity, aferer a8 usarm
SWRIF T BT 1Y TA5T:

1. IS B4

2. A B4

3. gt Ba

4. Mifdd1 <

Correct Answer :-

. AT

4) H3a a9 7= Fdy §, fEan arera sy &1
YI-IRR | T oF, Y YH ST 1Y HT1 1’
$HH T 5 PT AH Id13¢:

1. I B4

2. AT &<

3. gt Ba

4. Midd1 B<

Correct Answer :-
o JICT B
5) T a1 A WRund® a1 | ggfere:
‘el TS YT I’
1. I8 HUS et J YT g |
2. 98 HUS Yl Ui A &1
3. 98 el ¥ HUS Yaarar 8|
4. 98 IS Y HUS T g

Correct Answer :-

. 98 U6 ¥ HUS YAa gl

6) 3R 3M¥ 3UR &1 a1 3 82
1. TR 3R 3afds

2. YT 3R AfYH



3. U8l 3R 3aid®
4, TRERT 3R AP

Correct Answer :-
. T AR D
7) aa® Wsg o1 34d 8-

1. 30 3170 & eyt Siuar o= fARUe I 8111 31a: adds o] 98 faT § o &1 &1 JaiR Jaiy
BT 5 | TP B¢ 30 3170 H guid: W 3R Tyl of 33 aran g 6|

2. 30 3 & ol 31T 31 fARTe 9% BIFT1 31d: Hod BTl 8 fauT & S U1 &1 $Is Yo
Tay el BIT| T B U 3T H Yuid: oo 3R Jrguf 3ref 3 aran giar ]

3. 3T 3T T Tl 37aT 37 TTUef g BT 3fd: Yo 1ol g fae g ForaH w1 &1 Pig garmR
ety TE g1 | T ©¢ 31U 314 H guid: Ta 3R Jeguf 81 < arer gian g |
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Correct Answer :-

o U O T TrUT 3T 3 FRUE I BT | 3fdl: Yardds HhIcd g fauT § foras T &1 dig gaiR
ey TE BaT| YA T 3 39 H Yuia: T 3R Tyt 3ref &3 aren g g

8) URT 3 Ut 7 31 B:
1. IS 3R e
2. TP 3R BTy
3. FIaIe 3R AR
4, TG 3R e

Correct Answer :-

. TOEID SR T
9) 3ad 3N 3G BT F4T 3 72
1. TRTE 3R SIuH
2. TERTS 3R SUHY

3. T 3R SUHY
4. T8 3R 3FURY

Correct Answer :-

. TERT SR SIUHY



10) fFy HeTaR ST 9T UG B2
WARATIRESNE_ gl
1. U S Ui’

2. QYD Yo

3. 3q P A

YT

N

Correct Answer :-
. GUD Y
11) AT 3R T &1 3 B:
1. TAGHA 3R gY I 1 verd
2. a1 g3 3R g § &1 uery
3. e g 3R e iR
4. HTET 3R Y& T4

Correct Answer :-

o AT 3R Y& T

12) DR’ XSG BT Wi A 7T 32
1. gollae

2. &1 1 3T

3. 09

4. oz

Correct Answer :-

13) ¥4 3R UREA WP A &2
1. I 3R Hidd T

2. e T iR ITorifa 39

3. a1 T iR ufda 3

4. TSI T 3R FHar g



Correct Answer :-

. AT 3R Hfed 39
14) g’ P 34 &:
1. STHH, HRUT, TH

2. ¢, PRI, T

3. T, PRV, T

4. T, HRU], YA

Correct Answer :-
15) gop HT1 31 8:

1. QromETd, gt

2. QIoTrTd, T

3. QIOTAT, Pl

4. QIO el

Correct Answer :-

. SO, Blaf
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e aS) Al a8 o) st areht 3=h i
FufRE A AT R?



1. YT T
2. 4R
3.5 3T

4, HoUY

Correct Answer :-

18) qMa fFY UPR & T3 TH AT &2
1. G Ted GTH

2. e fRd® gm

3. Ao Ref® g

4. 9aG g

Correct Answer :-

19) ‘TR BT I’ YeTax BT 1 3 32
1. TR IR T g3 R

2. TR R 91 fe@H

3. N R Id feam

4, R R I f@

Correct Answer :-

. WR IF fe@mT

20) 3P’ BT fadId g &
1. YFsl
2. B

3. TP
4. 9%

Correct Answer :-



21) ‘gedaT BT Y §:
1. e

2. faEdRom

3. Ol ST

4. Ol FRATT

Correct Answer :-

22) ‘gg I UhA 8, TT & o1 $ ot #= IhdT 81’ 39 919 $ Aafeiaras a9 § defg|
1. Thaod ol & [T o it 76 R Ieha B

2. Th oo T o [e1T $& Hi HR Feball AT

3. 98 1 Thaied &, % & [T o Hi 761 X Wehell 5 |

4. T8 O Th T §, T & o $© 1t SR T g

Correct Answer :-
. THAA TS & [ s Wt S gavar T
23) FifveR’ o1 IS faus < g
1. TN P YRUT HA a7 § S U] Fn|
2. TREH BT YRUT A AT § Sl 37T P |
3. IR BT YROT & a1 § S 31T Hon|
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Correct Answer :-

. TR P 4RO B T B O 1T FT

24) “IYT-URTAT BT AHRIS farg wam ghme
1. “3{UHT 3R TR

2. 37O TR

3. (U1 g1 TR

4, *3{OT ST TRTAT

Correct Answer :-



25) THAGEY fHA TOR & Vg THATA 2
1. T Teg] & H

2. faudiardes wrsal & g

3. Q-1 Teal &b g

4. % RIS vl o g

Correct Answer :-

. fomiani® Tl & g

26) RraH Hoiw g 3 FEd &
1. el

2. FRmUg

3. Dbl

4. DAD!

Correct Answer :-

27) <3ifrd ger wRWIR® reg f5w &= o drar smar g2
1. HHfdDT

2. TRuafm

3. gTorsY

4. fagm

Correct Answer :-

28) ‘ged Bl We W I HI G FRAAT3I BT Y ©9 gHM:
1. “&Ic ¥ g o) I@ B QT RIarsir
2. ‘S Dl wic | Ryl T HR @Hr
3. ‘T DI GHI wie H 79 o Raera
4, WM 9= DI Wie | TG A Ryarsiy

Correct Answer :-



. T B GFITE A G B e
29) I HT Y fasdg 8 -

1. Q31

2. QU+

3. ‘3+3Fr

4, Y34

Correct Answer :-

o W3[

4, RRHJ

Correct Answer :-

31) fafiyor = v+ 1 eiaT far 59 safdaaras | aTey &1 A1faaras ST 9 R
1. I Al URASTS! el 3Ol &1 8 eian ¢ T

2. a8 ot fauiwor et oot &1 gt eikan ¢ |

3. 98 ol 3{id (aar 3ol &I gt oiaT ¢ T4

4. 98 ot FieoT Fear Siu=t b1 g1 it ¢ T |

Correct Answer :-

. g i fafiwor fyaan sl &1 8 e < T
32) T BT TS’ YeTax BT H T AL 32

1. AR &

2. TN HEAATS

3. B0

4. 3auiia g@



Correct Answer :-

33) ‘ga P14l fawde §:
1. Q-3

2. Ula+314

3. Ja+3d

4, Q3

Correct Answer :-

e TH3E

34) SNV YIRS eg e & A S oirar 82
1. Fal

2. TRram

3. fagm

4. e

Correct Answer :-

35) ‘fH B 3BT P PgA @ -
1. fooryg
2. fquran
3. ot

4. YAl

Correct Answer :-

36) ‘SIelt-Ht JATT YgTax BT T 313 82
1. @e-QIet A

2. Hal 3R Hdl I1d BBl

3. WRI-GIEt GAMT




4. G- AT

Correct Answer :-

. Bl IR Hdl T Pl

37) <3S’ P WS} dYelt A 1 Hgad 37
1. HA

2. IS |

3. 3T B

4. 3iSfett |

Correct Answer :-

38) «3ifafad sger TRHITY® Wreg forey & & Sen siran 82
1. QAT

2. ATfOTSY

3. fagm

4, WA

Correct Answer :-

39) gt &1 4fY fawde @:
1. AfG+3Miy

2. ffa+fur

3. gaT+3Hfy

4. i+t

Correct Answer :-

. gfe+3ifu
40) ‘3’ DT fIeH T3 2:
1. QMR

2. R



3. ]

4,

Correct Answer :-

41) ‘eI e T BT Y& FUE:
1. 1 SIS 5|

2. SATGEd ¢

3. §AGedl gl

4, R I SIS G |

Correct Answer :-

. SETGISAIgl

42) ‘AT B! Wl dieit § T Hgd 82
1. AH

2. Gl

3. AIgR

4, 3{dW

Correct Answer :-

43) fSYyarE® A UYAaS 91 | gGfere:
TSP I d 5] wTd|

1. TSP W I 82

2. ¥pd ASD! gl STl

3. TG1 STl TS eh! Tpar?

4. 1 TSB! Wod ST 82

Correct Answer :-

- I TSP TR Sl 87

44) T T &1 A A U¢ 3R 1 i 10 g1 F13wR &



o TP TS XM § | ToIgd, Ud, U, 1 Jverd iftd w0 g1 9aR & it yd qa s u d ue
& &1 @t vgw & a1y FeaeR Rrara 81 SR s faiy o ar snfa &1 & | it wiftrn
T W07 T BT 81 IS T BT 3 W TP & 81 G@-g:9 BT Wia aire ofi -1 v i &
3Tt 3R quf, Azryur ok Sifa-fears aur am & Jt Sudt avgE &1 $34R A 99 a1 S0 B
FIT 8 3R §ITH A 917 @ 9 U1 HeTed P | ST I8 HIFadT a1 sHT=ad S 987 9 a1 Helgd
ST D13 181 | 78 e framan 8, sravma =12 | e dt voar &1 s 2|

Uy JaA ST Y TR |
1. 99 9T 4 WF YH B

2. 999 981 Y AT g |

3. I g1 y¥ gifaspar g |

4. g g1 yH urffpar g1

Correct Answer :-

. g9 g1 yH AFadT gl

45) 39 T P A A U 3R - A T8 gy H13«R S

o TP TS XM § | To1gd, Ud, U, 1 Wy iftd wu g1 9aR & it yd qa s u d ue
& &1 @t vgw & a1y FeraeR Rrara 81 SR s faiy e ar sfa &1 &Y | 3ot vt
T W07 T BT 8 1 IS I BT 3 W TP & 81 G@-g:4 BT Wia afre ofi -1 v i g
3Tt 3R auf, AzryuT ok Sifa-fears aur am & Jt St avgE &1 $4R A 99 a1 S B
FIT 8 3R §ITH A 917 @ 9 U1 AeTed P | ST I8 HIFadT a1 sHT=ad S 987 9 a1 Helgd
TERT D15 181 | T8 e framan &, sravma =1 | e df voar &1 s 2|

wy: ¥ 3R g &7 faeiy s fof@

1. 4 1 fIaH g 3R S BT I e 71
2. o1} &1 faeld §a 3R S &1 aMd 3y 7|
3. o T facy arenf iR S 7 faam gaF B
4. 4o H1 fqaH FuH 3R TIH &1 fadH SR B

Correct Answer :-

. o BT faenm s 3R SO o7 fadH gaH B

46) 3T T &1 A A Ue 3R 9 RE me 7 F13wR &:



4 T YD g ¢ | Holgd, Hd, UY, T AU HifHd FUF 1 HOR & It yd qa s ud te
& &1 @t ugw & a1y FeraeR Rrara 81 SR fdt faiy e ar snfay &1 =&Y | 3ot wiftrny
T W07 T BT 81 IS I BT W TP 8 81 G@-g:9 BT Wia ot ofi 31 v i &
3repfar 3R auf, J=ryur ok Hfa-Raret aur am & Tl Sudt avgl &1 S4R 7 977 a1 39 B
T 8 3R §9T A 917 @ 9 U1 AoTed P | ST I8 HIFadT 91 SHT=ad S 987 9 a1 Helgd
TRT P15 181 | 8 e framan &, sravma =1 | e df voar &1 s 2|

wy: o o1 foreq T 32
1. ¢ B I 3 T ST B |
2. 4 ) A A TR R |

3. 4 P gBY A TR B |

4, Y4 HI Y A AT

Correct Answer :-

. YD AT A TR

47) 39 Y P A A U 3R 1 A T g1 H13«R S

o TP TP XM § | T9gd, Ud, U, 1 Jverd iftd wu g1 9aR & it yd qa s u d ue
& &1 @t ugw & a1y FeraeR Rrara 81 SR s faiy e ar snfay &1 =&Y | 3ol vty &
T W07 T BT 81 IS I BT 30 W TP & 81 G@&-g:9 BT Wia aire off 31 v i &1
3t 3R quf, AzryuT ik Sfa-fears aur am & Jt Sudt axgE &1 $34R A 99 a1 S B
TIT 8 3R ST A 9147 @ Y U1 HoTgd P | 1 I8 HIFadT 91 sHT=ad S 987 9 a1 Helgd
SERT DI 181 | T8 e framan &, sravma =1 | e dtf voar &1 s 2|

U ST TR T AR fafae|

1. SR F ot ol eft 7 wop &1 HiTaar &) god wrsT ¥ | 4 Sitedr @ 71 b disar 81 SR & gt
mﬁggwww%l I8 9161 T  3(elT fexaTs Usdn § fobeg 98 ik Y T &1 31 STH
|

2. TR & it of ga 7 U & | AadT &) Wed g1 4 g | 9 Sisdr g 7 f diadr 81 TR &
mﬁ%tjﬁ%ﬁwww%l I8 9T U ¥ 37eT foxaTs s § foreg a8 Siex A Uw &1 81 3T
|

3. SR & 9t o ga H U & | AFadT 81 UeY 981 4 g | 4 Sisdl § 7 & died g | IR & @t
mﬁggwwwél I8 I1E1 FU I 3fa feaTs uSdl § fbrg 98 SIcx 9 T 81 5 | I9H
|

4. AR & Gt oo g T U € | AadT &) el ST 9 g | 4 Siedr g 7 f diedr g | TR & @t
mﬁggwmwe%l I8 918 T 3l fexaTs Usdr @ fob=q 98 ik A TH &1 31 T4
|

Correct Answer :-




- TR & gt 4 7 B U &1 Aaar 8 e 97 ¢ 81 4 Sisar § 9 dsdr g1 TuR & gt
mﬁ%rjﬁ%ﬁwww%l I8 918 U ¥ 37elT foxaTs s § foreg a8 3R A Uw 81 81 ITH
|

48) 39 T ! A9 A U 3R = 2w ¢ yzq #1 3R ¢

H U TS XM § | ToIgd, Ud, U, 91 WV Hifhd w0 g1 9aR & 9t oy qa s u d uw
&1 81 9t ags & T1y weraeR Rrard 81 SR et oy et ar sfa ot w11 et it
T W01 WG g1 8 | S 3ad BT 30 4 T € ¥ | §E&-g:@ T U1 &ty Y S U S g
3repfar 3R guf, a=ryer 3R Hfa-Rare aur am & Tt Sudt avge 81 $%4R 7 977 1 S0 B
T 8 3R $IT A 97147 @ 9 g1 Heled P | 1 I8 HIFaal 91 s | 987 9 a1 Heled
THRT I3 a1 | 98 e Raran 8, srawma =81 ol @t uavar &1 d@a® g1

w4 ST Teri= 1 Sfua s diform)
1. FadT - T g7 94
2. AT - GaY §9T 4H

3. A9l - 9o BieT 4

4, 1T - GE9 FST 4H

Correct Answer :-
. HHadl - e g7 g
49) AR AW HId GHY foh 91 &1 &= 4
1. ST Rl BT T X |
2. ST RIct BT TN 9 B |
3. T AcH BT YINT ST Hr |
4. XaT el BT YA HY |

Correct Answer :-

. Y A BT YT T B



Correct Answer :-
REATI|
51) «“IR TRerd RiY aghedr, pied o1a & oai-,
TR} 3T TE W IIerel, B BaTe ATt 1
AU A P A 2
1. BRI XY
2. 4R
3. YO

4, PIUIY

Correct Answer :-
. YOS -
52) YT BT -ITH Farail:
a3t haa ATeTeeR fear 8, s el Wi agieir
1. & o IR FoR o &1 B
2. RoHTT S gHH R Ig T B
3.3 H diG 81 TR
4. g1 @ gaT T A g

Correct Answer :-
. e Mg R Te M g
53) CANCELLED
AT DI & 39 910 P12’ BTG ©U 8-
1. I8 91 B DI SFdT 82
2. 39 1A I DI ol 82
3. 39 91 B I ALY ST &2
4. 39 1 I B ST 82
Correct Answer :-

« Y I B! DI SHdT 82



54)  dRIG# 4Ud Y19 @ vEd1 2 | Fife, IR STl 81 €, reht
1. TS T[0T

2. A 1T

3. TSIl U1

4. 371 70T

Correct Answer :-

55) WUS BT & fawg § wer a1 8 f:

1. 98 U oRITCH g1 ¢ | T8T G &7 3 UFT a7 ST B

2. 98 TP SRR BIdT 8| T81 ox &1 Y S A 5

3. 98 U SRITIORI IdT & | T8T o= &1 31 yIT a7 Sie 3|
4. I8 U 0 RGBT B 1 F5T =1 7 37 YT A7 SR B

Correct Answer :-

. J% U CRIURI §1a1 & | T6T o1 &1 31 YT a7 Sfr gl
56) HIER 701 H 9ol B:

1.T, 3,8, ¢ U4 YHNY ] o1

2.9,9, W, 51 U9 JHRRGH 91

3.9, W, ¥, 4, 7 Ud GATYS 21

4.9, ¥, 9 Ud Higad 1

Correct Answer :-

57) HTYT YbdTes ¢ 3rufd sT# St eafraf S=nfya g1l €, S
1. fordlt ofd @ T BT ]

2. fordlt avq T H @ T TR I B |

3. fordlt avg o1 I § T BT B |

4. Tt foman fa=ivor a1 1 & T BT B |

Correct Answer :-

. [t g ool @ GrERI g g |



58) Y A9 A9 § oiel U &, RRBTd a9 3idd gie fHard #d 2 | A U T YT &
Aae g1 fFad IR A HTTATR?

1. faurg

2. R HTG

3. 3AJHId

4, R HId
Correct Answer :-

« I 4

59) ¥ RITH YTl HT IGYUT Fd &, 38 SIS TFY §1d 8 | A I $I I A SMYRYd 7
SITd g1’ forad IR A PeT AT 82

1. fauma
2. 3FHTd
3. HORI HIg
4. T HIg

Correct Answer :-

60) e aref drer BRI B
1. JHTE g QTR
2. TI&IUT Xeg feRT
3. ST 2eq; Aferd
4. o Yeg VTR

Correct Answer :-

o 3T e faa

61) TUeql T 31 YGUT HRIA areil gl
1. Yeg-XTfaar

2. 3APR

3. Jfaar

4, BT 10T



Correct Answer :-

62) YT TS UGid &, 1 U O 3R GoaafRyd T a1 Jue ¢, forgd 3fe
AT U H 37 gFd 3|

1. ¥R, o H, fopar
2. i, HH, HUT

3. Sdl, HH, fopa
4. &dl, 5, fopam

Correct Answer :-

63) Gfwmant : a1Rie ufieT wel A yHTiRE gkt 32
1. XqEH

2. a1

3. 91NG

4.3aR

Correct Answer :-

64) HAH! : AP U1 Hel A USIRE gl 82

1. XdcIH

2. TTHR
3. 3far

4.3aR

Correct Answer :-

65) & o ga faaRy sryar yig & i g 3 9ere ARl &Y JugH 3t 391 Sl aifeu|
1. G&guy

2. AT



3. Yeeldd

4, Hrardf

Correct Answer :-

66) 33 UTI DI A | U 3R -1 faW 71 u=[ &1 3qar <:

q1E 5T, & garen &
el # T SIS,

a1g 15T UY-Aren # fdy
R B AU,

qTg 11 TH1el & A W
? g sTan 91,

18 51 adl & RR W
Tg WG W 3591,

S A1 1 ST,

I Y W ¢AT gH !
T4 R - Ter,
o 7Y IR 914 4R 3!

Y: g ! et arg T8 82

1. %eqml;*ls-ﬁﬁﬂuﬁ,ﬁtﬁﬁ qTell § g6, 9Iel & Xd R fdeM Tl ¢l & TR IR I+ oI 918 I
ERE

2. w%wﬁﬁuﬁﬁﬁwﬁ%ﬁ,wﬁ%wwaﬁaméﬁ%wmaﬁaﬁmw
|

3. Wgﬂeﬂ‘rﬁﬁuﬁ,ﬁaﬁwﬁﬁaﬁ,aﬁ%mwaﬁawéﬁ%wmaﬁaﬁmw
CAREI

4. IRETAT & e A fafeq, Ut ot A1 & 7yA, THTe! & Ud WR e aul ¢al & IR IR TG & d1e I
CAE ]
Correct Answer :-

. $am§%ﬁﬁﬂuﬁ,ﬁﬁaﬁwﬁ%ﬁ,wﬁ%mmaﬁaméﬁ%wmaﬁaﬁ%w
TR gl




67) 3 Ul ®! A | TS 3R ) faW 71T u=[ &1 IR <:

aTE e, W JRaT &
e | AT 9Ty,

a1g 18T Ue-wran # iy
R B ATARS,

qTg 18] THTel & WA W
7 g STe s,

918 781 adl & RR W)
Tg UG W 3341,
S dYs AT ST,
¥ UY TR AT gH B!
wrg-yfH W - e,
o 7Y IR 9d 4R 3!

WY T fhaehT T ST dT8dl 82

1. I8 YT TR 10T NSTAR B B dR D] BT JHIH FHRA1 9184 ¢ |
2. T AIFYH TR U707 =BT B DI dER A1 3 UH AT a8 6 |

3. I AIGHH TR U707 IBTaR HR Bl AR S4R BT T BT I & |
4. TS0 HIGHFH TR U107 STaR B b TR AT BT JHH 31 d18d 8|

Correct Answer :-

- TS0 AIGHH TR U107 TR F B daR S 1 G H31 918 & |

68) 39 U & YU @ U 3R < fau ¢ wx[ #1 IR

dTg TE, § JRaTen &
el & T oI,

q1E 81 Ut-wrem 7 oy
R B ATARS,

qTg -] THIel & WA W
7 &R sTeT Wi,

918 51 adl & RR W



Tg YT R TS,

T Al AT SR,

SN Y W ¢AT gH !
wTg- 4 R =i e,
o 7Y IR 914 4R 3!

wy: 3 ufeaal &1 e fafau)
1. D &Y SrfrarsT

2. A BI e

3. gRaTarsii & Sfiam

4, QW D1 AT

Correct Answer :-

o QDT IS

69) 3 UL B! YU A U 3R T 3T 1Y U= &7 Iqer

HTg TE, § Rt &
gl H T W1,

qTg et yHt-ATen d foy
R B S,

qTE 8] AHel & WA W
& g STa1 91,

918 781 adl & RR W
Tg WG TR 3301,

g s AT g,
¥ UY WR AT gH B!
Ag- 4 TR - Tg,
o 7Y IR 9Td 9k 3!

uy: HfY & fore it fRufa g 59 32
1. T & fore gmeHs fRUfA g i 98 3! & arf R de sy
2. G0 & forg e fRUfd & o a5 Aol & amf rear am



3. U & fofT Jrroien RUfd B fob ag Aol & wFl WR ey wimw
4. I & forg grore U & fob a8 et & arf w fos s

Correct Answer :-

. U & o g T § fob ag et & o1l R fos el

70) 39 U B YU A US 3R 14 fu T wx[ #1 IqeR

918 o1, # YTl &
el # Ut S,

qTg et get-ATen d foy
R B ATARS,

qTg 711 TH1el & A W
? g sTan 91,

18 51 adl & RR W
Tg WG W 3591,

q dis A= ST,
SN Y W ¢AT gH !
aTg- 4 R - e,
o 7Y IR 914 4R 3!

UY: BfY A T P AT A F1 o a2

1.W%ng%mmﬁwsﬁﬁ%mﬁm%ﬁsa‘rmaﬁw$m&rqmﬂﬁhan:hw

R

2. ﬁsg&J%mwn@r%m%?hTﬁﬁugmﬁm%ﬁ?aﬁmﬁ?&n%Wmﬂﬂwaﬂw
R

3. Hd A I & A1 I ST &I g T2 e § o6 a1 T 1 e & T oo Taed AsTeR i ¢ |

4. HIY = T & A1eH I VT &1 I8 T e ¢ fos ) =1 Bt & & forg 3101 9dva SR IR ¢ |

Correct Answer :-

. m;rg&:$mméém$aﬁﬁﬁa€mﬁm%ﬁvaﬁwﬁi&n$mmﬂﬁwnﬂw
G

Topic:- General English



1) Choose the appropriate preposition for the given sentence:

Our terms and conditions are printed our invoices.
1. across

2.1in

3.0n

4. over

Correct Answer :-

2) Choose the appropriate preposition for the given sentence:

I am removing my name ______ the membership.
1. off

2. by

3. from

4, of

Correct Answer :-

e from

3) Choose the appropriate preposition for the given sentence:

This offer is subject ___ market conditions.
1. to

2. for

3.1in

4. at

Correct Answer :-

4) Choose the appropriate prepositions for the given sentence:

He stood the fence and chatted his neighbor.

1. near, with



2. from, to
3. for, from

4. near, for

Correct Answer :-

e near, with

5) Choose the appropriate articles for the given sentence:

To be healthy, reduce junk food in house and concentrate on healthy meals for entire
family.

1. a, the
2. the, a
3.3,a

4. the, the

Correct Answer :-

6) Choose the appropriate articles for the given sentence :

If you start hitting
reaches the boundary.

ball hard, your opponent will also be little alert to stop it before it

1. the, a
2.an, an
3.a3,a

4, the, the

Correct Answer :-

7) Choose the appropriate usage to fill in the blank:

The boy who had been idle was awarded a prize.
1. dangerously
2. miserably

3. notoriously



4. seriously

Correct Answer :-
e notoriously

8) Choose the option that best transforms the given sentence without changing its meaning:
We take pride in our country.

1. Pride must be there in our country.
2. We are taken with pride in our country.
3. We are filled with proudness in our country.

4. We are proud of our country.

Correct Answer :-
e We are proud of our country.

9) Choose the correct form of verb for the given sentence:

The report of an earthquake nearby _____ the village.
1. enthused
2. distracted
3. distressed

4. surprised

Correct Answer :-
e distressed

10) Choose the correct form of verb for the given sentence:

When thebus ____ Delhi, he decided to travel to Agra.
1. reaching

2. is reaching

3. reach

4, reached

Correct Answer :-

e reached



11) Choose the correct form of modal auxiliary verb for the given sentence:

My school bus is usuallyontime. It ____ to be here any time now.
1. ought

2. might

3. shall

4, has

Correct Answer :-

12) Choose the correct form of adverb for the given sentence:

The ____ spoken words would return to haunt the rebel.
1. systematically

2. magnificently

3. boldly

4. significantly

Correct Answer :-

* boldly

13) Choose the correct form of adverb for the given sentence:

Their teacher speaks very
1. quickly

2. urgently

3. hurried

4. alarmingly

Correct Answer :-

e quickly

14) Choose the correct form of adjective for the given sentence:

These books are a improvement on what has gone before.

1. good



2. beautiful
3. rude

4. great

Correct Answer :-

15) Choose the correct form of adjective for the given sentence:

Sheisvery ______ ; you never know what she is going to do next.
1. docile

2. unpredictable

3. worthless

4. non-committal

Correct Answer :-
e unpredictable

16) Choose the correct form of expression to complete the sentence:

For people with hearing difficulties, telephones with volume controls provide the best
1. result

2. alternative

3. solution

4, remedies

Correct Answer :-
e solution

17) Choose the correct form of expression to complete the sentence:

In spite of many faults, he gained their
1. reputation

2. attention

3. affection

4. protection



Correct Answer :-

o affection

18) Choose the correct form of tense for the given sentence:

I___ himonly one letter so far.
1. send

2. am sending

3. have sent

4. will send

Correct Answer :-
e have sent

19) Choose the correct form of tense for the given sentence:

My brother his textile business last year.
1. was starting

2. starts

3. start

4, started

Correct Answer :-
e started

20) Choose the correct form of tense for the given sentence:

When | was passing the house, | saw thathe ____ thecar.
1. cleans

2. was cleaning

3. cleaned

4. is cleaning

Correct Answer :-

e was cleaning



21) Choose the correct form of tense for the given sentence:

They won't buy any new clothes at present because they ___money to buy a car.
1. saving

2. are saving

3. were saving

4, saved

Correct Answer :-
e aresaving

22) Choose the most suitable determiner for the given sentence:

The ___ thief escaped under cover of darkness.
1. some

2. another

3. each

4, other

Correct Answer :-

e other

23) Choose the most suitable determiner for the given sentence:

cloud has a silver lining.
1. Any
2. All
3. Every

4. Most

Correct Answer :-

24) Choose the appropriate articles for the given sentence:

Sheila decided to take leisurely walk in garden opposite her house.

1. a, the



2. the, the
3. an, the

4, a, an

Correct Answer :-

e 3, the

25) Choose the appropriate articles for the given sentence :

Heis____ estatedeveloperat ____ famous Jindal spa.
1. g, the

2. the, a

3. the, the

4. an, the

Correct Answer :-

26) Read the passage carefully and answer the question given below:

You might not think of plants as particularly chatty but in reality, they communicate surprisingly
well with each other, especially when faced with danger. According to a recent study in the
journal Frontiers in Plant Science injured plants send out emergency signals to alert neighbors to
start building up their defenses.

The chain of events that led to this surprising discovery began about two years ago, after
University of Delaware botanist Harsh Bais agreed to mentor 16-year-old Connor Sweeney on a
research project. The ecstatic high school student got to work right away, spending all his free
time, including weekends and summer breaks, in Bais's lab at the Delaware Biotechnology
Institute.

His project entailed culturing Arabidopsis thaliana, also known as mustard weed, for use in
experiments. The young researcher would place the seeds in Petri dishes and test tubes filled
with agar to promote growth. The seeds would germinate about six days later and transform into
delicate three-inch saplings with bright green leaves.

One day, Sweeney sliced a mustard weed leaf in two spots mimicking an insect bite to see how it
would begin the repair process. The following day, the young researcher was surprised to find
that while the injured plant remained unchanged, the roots of the neighboring young mustard
weed sapling had grown considerably longer and even had lateral offshoots.



“It was crazy — I didn’t believe it at first. I would have expected the injured plant to put more
resources into growing roots. But we didn’t see that.” said Bais, who conducted a similar study in
2012, where he found that soil bacteria living near the roots of a plant helped boost its immunity
by signaling the leaf pores, or stomata, to close in the presence of pathogens. To ensure that it
was not the same system at work, Sweeney partitioned the plants to prevent any communication
between their root bacteria and repeated the experiment multiple times. The results were the
samel!

www.dogonews.com

Question: The experimenter sliced the mustard weed leaf in two spots to
1. prevent any communication between its root bacteria

2. see how it would begin the repair process

3. put more resources into growing roots

4. boost the plant’s immunity by signaling the leaf pores

Correct Answer :-

» see how it would begin the repair process

27) Read the passage carefully and answer the question given below:

You might not think of plants as particularly chatty but in reality, they communicate surprisingly
well with each other, especially when faced with danger. According to a recent study in the
journal Frontiers in Plant Science injured plants send out emergency signals to alert neighbors to
start building up their defenses.

The chain of events that led to this surprising discovery began about two years ago, after
University of Delaware botanist Harsh Bais agreed to mentor 16-year-old Connor Sweeney on a
research project. The ecstatic high school student got to work right away, spending all his free
time, including weekends and summer breaks, in Bais's lab at the Delaware Biotechnology
Institute.

His project entailed culturing Arabidopsis thaliana, also known as mustard weed, for use in
experiments. The young researcher would place the seeds in Petri dishes and test tubes filled
with agar to promote growth. The seeds would germinate about six days later and transform into
delicate three-inch saplings with bright green leaves.

One day, Sweeney sliced a mustard weed leaf in two spots mimicking an insect bite to see how it
would begin the repair process. The following day, the young researcher was surprised to find
that while the injured plant remained unchanged, the roots of the neighboring young mustard
weed sapling had grown considerably longer and even had lateral offshoots.



“It was crazy — I didn’t believe it at first. I would have expected the injured plant to put more
resources into growing roots. But we didn’t see that.” said Bais, who conducted a similar study in
2012, where he found that soil bacteria living near the roots of a plant helped boost its immunity
by signaling the leaf pores, or stomata, to close in the presence of pathogens. To ensure that it
was not the same system at work, Sweeney partitioned the plants to prevent any communication
between their root bacteria and repeated the experiment multiple times. The results were the
samel!

www.dogonews.com

Question: According to the passage, what substance helps growth of plants in labs?
1. Petri dish

2. Soil bacteria

3. Agar

4. Arabidopsis thaliana

Correct Answer :-

28) Read the passage carefully and answer the question given below:

You might not think of plants as particularly chatty but in reality, they communicate surprisingly
well with each other, especially when faced with danger. According to a recent study in the
journal Frontiers in Plant Science injured plants send out emergency signals to alert neighbors to
start building up their defenses.

The chain of events that led to this surprising discovery began about two years ago, after
University of Delaware botanist Harsh Bais agreed to mentor 16-year-old Connor Sweeney on a
research project. The ecstatic high school student got to work right away, spending all his free
time, including weekends and summer breaks, in Bais's lab at the Delaware Biotechnology
Institute.

His project entailed culturing Arabidopsis thaliana, also known as mustard weed, for use in
experiments. The young researcher would place the seeds in Petri dishes and test tubes filled
with agar to promote growth. The seeds would germinate about six days later and transform into
delicate three-inch saplings with bright green leaves.

One day, Sweeney sliced a mustard weed leaf in two spots mimicking an insect bite to see how it
would begin the repair process. The following day, the young researcher was surprised to find
that while the injured plant remained unchanged, the roots of the neighboring young mustard
weed sapling had grown considerably longer and even had lateral offshoots.



“It was crazy — I didn’t believe it at first. I would have expected the injured plant to put more
resources into growing roots. But we didn’t see that.” said Bais, who conducted a similar study in
2012, where he found that soil bacteria living near the roots of a plant helped boost its immunity
by signaling the leaf pores, or stomata, to close in the presence of pathogens. To ensure that it
was not the same system at work, Sweeney partitioned the plants to prevent any communication
between their root bacteria and repeated the experiment multiple times. The results were the
samel!

www.dogonews.com

Question: Which of the following options does not mean the underlined word ‘ecstatic’ in
Paragraph 2?

1. Thrilled
2. Overjoyed
3. Doubtful

4, Excited

Correct Answer :-

e Doubtful

29) Read the passage carefully and answer the question given below:

You might not think of plants as particularly chatty but in reality, they communicate surprisingly
well with each other, especially when faced with danger. According to a recent study in the
journal Frontiers in Plant Science injured plants send out emergency signals to alert neighbors to
start building up their defenses.

The chain of events that led to this surprising discovery began about two years ago, after
University of Delaware botanist Harsh Bais agreed to mentor 16-year-old Connor Sweeney on a
research project. The ecstatic high school student got to work right away, spending all his free
time, including weekends and summer breaks, in Bais's lab at the Delaware Biotechnology
Institute.

His project entailed culturing Arabidopsis thaliana, also known as mustard weed, for use in
experiments. The young researcher would place the seeds in Petri dishes and test tubes filled
with agar to promote growth. The seeds would germinate about six days later and transform into
delicate three-inch saplings with bright green leaves.

One day, Sweeney sliced a mustard weed leaf in two spots mimicking an insect bite to see how it
would begin the repair process. The following day, the young researcher was surprised to find
that while the injured plant remained unchanged, the roots of the neighboring young mustard
weed sapling had grown considerably longer and even had lateral offshoots.



“It was crazy — I didn’t believe it at first. I would have expected the injured plant to put more
resources into growing roots. But we didn’t see that.” said Bais, who conducted a similar study in
2012, where he found that soil bacteria living near the roots of a plant helped boost its immunity
by signaling the leaf pores, or stomata, to close in the presence of pathogens. To ensure that it
was not the same system at work, Sweeney partitioned the plants to prevent any communication
between their root bacteria and repeated the experiment multiple times. The results were the
samel!

www.dogonews.com

Question: When do injured plants communicate?
1. When faced with danger

2. When they begin their repair process

3. When they spot soil and water

4, All of the above

Correct Answer :-

e When faced with danger

30) Read the passage carefully and answer the question given below:

You might not think of plants as particularly chatty but in reality, they communicate surprisingly
well with each other, especially when faced with danger. According to a recent study in the
journal Frontiers in Plant Science injured plants send out emergency signals to alert neighbors to
start building up their defenses.

The chain of events that led to this surprising discovery began about two years ago, after
University of Delaware botanist Harsh Bais agreed to mentor 16-year-old Connor Sweeney on a
research project. The ecstatic high school student got to work right away, spending all his free
time, including weekends and summer breaks, in Bais's lab at the Delaware Biotechnology
Institute.

His project entailed culturing Arabidopsis thaliana, also known as mustard weed, for use in
experiments. The young researcher would place the seeds in Petri dishes and test tubes filled
with agar to promote growth. The seeds would germinate about six days later and transform into
delicate three-inch saplings with bright green leaves.

One day, Sweeney sliced a mustard weed leaf in two spots mimicking an insect bite to see how it
would begin the repair process. The following day, the young researcher was surprised to find
that while the injured plant remained unchanged, the roots of the neighboring young mustard
weed sapling had grown considerably longer and even had lateral offshoots.



“It was crazy — I didn’t believe it at first. I would have expected the injured plant to put more
resources into growing roots. But we didn’t see that.” said Bais, who conducted a similar study in
2012, where he found that soil bacteria living near the roots of a plant helped boost its immunity
by signaling the leaf pores, or stomata, to close in the presence of pathogens. To ensure that it
was not the same system at work, Sweeney partitioned the plants to prevent any communication
between their root bacteria and repeated the experiment multiple times. The results were the
samel!

www.dogonews.com

Question: Whose brainchild led to the surprising discovery of communication of injured plants?
1. Not mentioned in the passage

2. Arabidopsis thaliana

3. Harsh Bais

4. Connor Sweeney

Correct Answer :-
e Connor Sweeney

Topic:- General Knowledge

1) In AABC, AD is the internal bisector of A, meeting the side BC at D. If BD = 5cm, BC = 7.5
cm, then AB: AC is:/f%ft AABC ®, AD HIUT LA FT 3Hiafk® TS 3 a1 YT BCA gD R
forerar 21afe BD = 5 ¥, BC=7.5 9, g1 99 AB : AC &:

16




1.15
2.32
3.28

4. 27

Correct Answer :-

3) How many Tuesdays are possible if the last day of the February is

Wednesday?/ af¢ Badl &1 sifaw o7 guar 8 af 39 wdH fhaq HieaR Jyd 8 9&d 8?2
1.0nly 4 / Had 4
2.0nly 6/ $dd 6
3. Only 3/ %dd 3
4. 0nly 5/ %dd 5

Correct Answer :-

« Only 4/ had 4

4) In the following question, select the related letter/word/number from the

%:%l;n alternatives. /fA=fefad u=za # fow e fawenl o & Tafd sigR/Rreg/€en 1
|

3265:4376 :: 4673 :?
1. 3562

2. 5487

3.2154

4. 5784

Correct Answer :-

« 5784

5) In the following question, select the related letter/word/number from the

given alternatives./ fF=fefRad uwa o feu e fawel # § TafRa sieR/2re/€B &1
BRI

AGRA: UTTAR PRADESH :: MUMBAI?:/ 3RT: 3R USXI :: §ag:?

1. Kolkata/ @l

2. Gujarat / 7SRRI



3. Maharashtra/ HERTY
4, Madhya Pradesh/Ha€I Ucxl

Correct Answer :-
» Maharashtra/ HERTY

6) DIRECTIONS: Solve the alphanumeric series given below:/ fadar: =ﬂ%rzﬂ11‘s§
SERTDIT JoTt B g6 I

A2B, E3F, 15], O7P, ?
1. U9V

2.U13V

3. U15V

4. U111V

Correct Answer :-

« UllV

7) Which figure represents the exact relationship with the variables given in

questions? /®IRI 3THfa vy # AT ¢ srqual & Hf¥a ddu ) gxifdt 82
® -©
JOION

Crocodile, Eagle, Lion/ HRH®Y, TTvg, W
1.D
2.B
3.C

4. A

Correct Answer :-
« C

8) Read the figure and find the region representing persons who are
educated and employed but not confirmed. /an?ﬁrms{waﬁ&ﬁ?mﬁ%



DI & I AfwTal Pt giidr 8 sl f Rifard ik faifora 8§ dfe STe! Hiedt 7 iy =gt 2|

Employed /faffaa

Educated / faféra % d
DA

Confirmed in job/ &l # gtz

1. adc
2. abc
3. bd

4. ac

Correct Answer :-

9) Gopal is elder to Mohan, but younger to Ram. Mohan is elder to Sohan, but
younger to Ram. Who is the eldest?/ TﬂTﬂH, ﬁﬁﬁﬂ?ﬂ%ﬂﬁmﬁiﬁﬂ%l 'Fﬁﬁ,
e A 98713, IR~ TV 4 DT 8| DI T 937182

1. Mohan/lﬂﬁ
2. Gopal/"ﬁtﬂa
3. Sohan/digd

4. Ram/IMH

Correct Answer :-

10) Raman is a student of 10tP class. In his class, his position is 16" from

the top and 49™ from the bottom. What is the total number of the students
in the class?/ 399 10 & $&T F1 B g1 TP BT H, TP R Mf A 16 IRMA RS
TUT 1T A 49 d M IR B | F&T W S| B Hol T FT1 3?2

1. 64
2. 66
3.65

4. 63

Correct Answer :-



11) (256)9-16x (16)0-18 =7
1.4

2.64

3.256.25

4. 16

Correct Answer :-

. 4

12) Which region of Madhya Pradesh are the Hid songs popular in?/ Hed USRT

P-4 &7 H s A wRIE 82
1. Malwa/ |Hicdl

2. East Nimar/ qd FH18

3. Baghelkhand/ SUTRaUS

4. Bundelkhand/gcads

Correct Answer :-
« Malwa/ HIddl

13) If ‘blue’ is called ‘red’, ‘red’ is called ‘green’, ‘green’ is called ‘black’ and
‘black’ is called ‘white’ then what is the colour of ‘grass’?/tlﬁ Har & e
FET A ], AT’ B G’ HET AT 3, "B’ B BT BT A1 § 3R ‘I’ B Ahe’ Hal
STdT 8 & U &1 3 /TR 2

1. black/ &Tdl
2. white/ g
3. green/ @xl

4. red / did

Correct Answer :-

« black/ &Tdl

14) A sum of money invested at compound interest amounts in 3 years to
Rs.2,400 and in 4 years to Rs.2,520. The interest rate per annum is:/ﬂ'ﬁg
YRTIT qTfe Tshgfes AT Pt G A 3 T & Rs.2400 TUT 4 1 & Rs.2520 § Ml &, af
a1 SaTeT g% FaT 32

1.12%



2. 6%
3.5%

4.10%

Correct Answer :-
e 5%

15) Which two of the following instruments are used to the dancers in the

Ahirai dance performance?/ mwmﬁﬁW%W$ﬁﬁmﬁﬁ
PI- T €I aTE-F BT IUYNT {541 S1a1 82

1. Drums and bhapang/ @d 3R HUT
2. Drums and khomak/ &d 3R WA®
3. Drums and jhika/'aﬁﬁ@?%ﬁo‘[
4. Drums and timki/ @d 3R fera!

Correct Answer :-

« Drums and timki/ @d 3R ferat

16) If BRAVE = APXRZ, then SALUTE = 7/’1% BRAVE = APXRZ, dd SALUTE = ?
1. RYIQOY

2. YRIQOY

3. RYIQYO

4, RIYQOY

Correct Answer :-
« RYIQOY

17) If MOBILITY is coded as 46293927, then EXAMINATION is coded as:/ gfe
MOBILITY T PC 46293927 %T-I‘q', EXAMINATION Wﬁ%-

1. 56149512965
2. 67250623076
3. 57159413955

4.45038401854

Correct Answer :-

« 56149512965



18) The Lokranjan Festival is held -/ @i®yei{ 394 fha- siavTa # maifora forar
STaT 82

1. Yearly/ Ufd a¥

2. None of these/ S8 I ®Ig g1

3. Biennially/m

4. Once every 2 years/ Ud® 2 a8 § U §R

Correct Answer :-

. Yearly/ ufd a¢f

19) Where is the Security Paper Mill located?/ uﬁrqﬁrmmmﬁ‘r’@m%?
1. Hoshangabad/ gIRATETG

2. Itarsi/ 3CRY

3. Rewa/'\%ﬂ

4. Jabalpur/ SIScqR

Correct Answer :-

« Hoshangabad/ BIRiTETG

20) A and B can complete a piece of work in 8 days, B and Ccando itin 12
days, C and A can do it in 8 days. A,B and C together can complete it in:/A

IR B fPA PP 8 AN AFIPATIB IRCIHNPHBI 12 A T BRI ABRAZIC AR A
IH P B 8 fEAT A FY TPd 8, dl A,B 3R C Fia®: 39 &H &1 fbd fa=i & w32

1.4 days/41%:l
2.5 days/5ﬁ_“f
3.7 days/7 faA
4.6 days/61%:f

Correct Answer :-

. 6 days/6 fad

21) If the cost price of 25 chairs is equal the selling price of 30 chairs, then

the loss % is:/af¢ 25 FRIG &1 arT geu, 30 FRIGT & fawy gou & WSR g, @ 17
wfa=ra fam 82

1. 20%



2.25%
3.16.66%
4, 5%

Correct Answer :-

e 16.66%

22) If the selling price of 16 items is equal to the cost price of 20 items, then
the gain or loss percent is:/16 a¥g3ii &1 fdHd Yed 20 T3 & NG oI & TG
8, @ ufa=ma @y ar g1 91a ®¥ )

1. Loss of 4%/ 4% 1 gI+
2. Loss of 20%/20% &t gIi+
3. Gain of 25%)/ 25% &I alH

4. Gain of 20%/20% T dlH

Correct Answer :-

e Gain of 25%/ 25% hIdIH

23) Who was the President of the Swaraj Party when it was formed in the
year 19222/ a4 1922 # 9§ Ta=To UTE[ @1 RITYAT g8 oY, 99 TavTe urdl & sreqel Hi A2

1. Vithalbhai Patel/ fdgauTs ucd

2. Chittaranjan Das/ RIS g™

3. Subhas Chandra Bose/ gV Tig &Y
4. Motilal Nehru/ HididTe A8

Correct Answer :-

« Chittaranjan Das/ oo a9

24) Who was the father of the Sunga ruler, Agnimitra?/ Ji IR, SRET &
frar s A2

1. Bhagabhadra/ HIRTHI

2. Pushyamitra/ G&f&=T

3. Vasumitra/aﬁﬁﬁﬂ
4. Vajramitra/ aSife=T

Correct Answer :-



« Pushyamitra/ Q&IfE=T

25) Who was known as ‘Alp Khan’?/ '3 @' & ¥ & f&d SH1 SIrar 412

1. Dost Mohammad Khan/ aRd HigH e @
2. Dilawar Khan/ fd@maR @M=

3. Hoshang Shah/ BRI M8
4. Baz Bahadur/ §19 dgTgR

Correct Answer :-

« Hoshang Shah/ BRI R

26) When was the princely state of Alirajpur founded?/ 3eRTSIQR faTaa &t
RITAT F9 g3 A2

1.1432
2.1437
3. 1435

4. 1440

Correct Answer :-

« 1437

27) What sum will amount to Rs.7,000 in 5 years at 8% simple interest per

annum?/f&a af1 &1 fAaye= 5 aut § 8% a1ftfe ATuRY ga< #t ® I 7,000 & 7
WTe?

1. Rs.6000
2. Rs.6300
3. Rs.5000
4. Rs.6500

Correct Answer :-

« Rs.5000

28) What is the height of the Dhoopgarh peak above MSL?/ % dd@ ¥ 418 &
SWIT YU B T Bt FHATS FT 8?2

1. 1340 m /1340 HicR



2. 1360 m/1360 HicX
3. 1350 m/1350 IR
4.1370 m/1370 Hic?

Correct Answer :-

« 1360 m/1360 HIX

29) What is the height of the Shivling situated in the Bhojeshwar Temple in
Bhojpur?/ HIWQR dfex # fRyq Rrafer #} Sars feadt 82

1. 16 feet/16 HIc
2. 17 feet/17 BIC
3. 15 feet/15 BIC
4. 18 feet/18 WIC

Correct Answer :-

. 18 feet/18 Wic

30) What is the capital of Norway?/ ATd B IS T 82
1. Dublin/ S&feH

2. Bucharest/ SR

3. Oslo/ 3fI%dl

4, Kingston/ﬁ?@?

Correct Answer :-

e Oslo/ 3

31) The perimeter of the top of a rectangular table is 28 m, whereas its area
is 48 m2. What is the length of its diagonal?/ﬁ ATIATPR U P! Fdg & HUT

&1 UiATg 28 Hiex § 9UT g7%a 48 Wiex2 §1 fawl 3t g | 31|
1.10 m/10 9.

2.12.5 m/12.5 4.

3.12 m/12 Hi.

4.5 m/5 Hi.

Correct Answer :-



« 10 m/10 HY.

32) On which planet’s movements does the Simhastha depend?/ Riz®i foa ug
ot nfafaftrl w AR 82

1. Saturn/ 94 Ug
2. Jupiter/ §gHfd U8
3. Neptune/ 911 Ug

4. Mars/ H7d U8

Correct Answer :-

« Jupiter/ gg%Uid Ug

33) The average weight of 15 students in a class increases by 1.5 kg when
one of the students weighing 40 kg is replaced by a new student. What is
the weight (in kg) of the new student?/15 faenf¥al &1 3fwd aui= 1.5 P ag
WTdT 8, 99 40 5 &t faendf &1 ve ar faandf uforqurfia owar 81 2 faemeif &1
IO T B

1. 64.5 kg/64.5 four
2. 60 kg/60 fobur
3. 56 kg/56 b3

4.62.5 kg/62.5 f&in

Correct Answer :-

« 62.5 kg/62.5 f&ur

34) How many groups has ICAR divided Indian soils into?/ 3TSHE3R A fHaa
el ¥ Uty frdY 1 fyufora frar 82

1.8
2.7
3.6

4.9

Correct Answer :-

- 8



The sum and product of two numbers are 10 and 24 respectively. The sum of

their reciprocals is: /gl GBI HT ARG TUT U HHRT: 10 TUT 24 §, O 37
SIh Ul BT AT B:

12
4 11

Correct Answer :-

36) Which of the following dynasties did Vakpati Munja belong to?/ fRafafad
ISTaRN | A DIH- A 91 W qIHUfd Gorr giEiia 32

1. Chandelas/ Tad
2. Paramaras/ IRHR
3. Mauryas/ arf

4, Tomars/FﬁTIT

Correct Answer :-

« Paramaras/ UGRHR

37) Which of the following flora is the Bori Wildlife Sanctuary rich in?/
fFrafafaa 3 @ $19- a1 gawfa I a=aeita naRva § Ugd &9 | U1 |17 82

1. Bamboo/ 919

2. Eucalyptus/ ghiacd
3. Cactus/ FTRTeHI

4. Rhododendron/ SIS -

Correct Answer :-
« Bamboo/ 99

38) Which of the following medicinal plants are available in Madhya

Pradesh?/ A T & A9 & A S19-9 siuthig M9 Sua«y 82



1. None of these/s_rl'ﬁ@fﬁ'st:rspf
2. Both of these/ g giHl

3. Aloe Vera/ﬂﬁw
4. Lemon Grass/?ﬂiﬁ‘;ﬂﬂ

Correct Answer :-

e Both of these/ﬂ's’iﬁ'*ﬁ

39) X starts a business with Rs.25,000. After 4 months Y joins him with
Rs.20,000. What will be the ratio of their profit at the end of the year?/X S|
25,000 TUY P Yol A% P TP ATUR IR (4TI 4 TIE & 916 Y, 20,000 U (A% #5239
ATIR § A g1 TAT1 19 B8 a9 & 3 § I8 5 rgura & @y frawm?

1. 3:2
2.1:2
3.15:8
4.7:5

Correct Answer :-

« 15:8

40) Venkaiah Naidu was recently elected as the Vice-President of

India./ﬁﬁwﬁmﬁﬁ_m%mﬁrﬁuﬁﬂww
1.13t /134
2.15% /15d
3.12% /129
4. 14" 144

Correct Answer :-

« 13t /139

41) When is the National Handloom Day observed?/ v@u%mﬁm‘rﬁm
STaT 872

1. 9 August/9 3T
2. 10 August/10 3T

3. 8 August/8 3ATd



4.7 August/7 3HTXd

Correct Answer :-

o 7 August/7 3T

42) The Dhasan River is the tributary of the - / Wﬂﬁmﬁwﬁ%?
1. Betwa River/a?lﬁszi??f

2. None of these/ S8 A ®Is T8l

3. Tapi River/ ardt =7d}

4. Chambal River/ I ¢!

Correct Answer :-

. Betwa River/ sdd1 -l

43) In how many different ways can a person get his two guests stayed in 9
rooms, when only one guest is stayed in one room? / faq fA=- i UeRI 9

P fad U= &Y ifafyal &Y 9 R W ST APl 8, T TP HHL A dad U AfAfy ot

SEIAT A?

1.72
2.6

3.36
4. 81

Correct Answer :-

44) 15 litres of a mixture contains alcohol and water in the ratio of 1:4. If 3
litres of water is mixed in it, the percentage of alcohol in the new mixture

will be:/15 e fayur & Taeigd 3R Uit &7 3UTd 1:4 81 afe gOd 3 diex Ut fyenm
feam < 2, 9 7 fygor & v iew &1 wfaxa s

1.17%
2.16.66%

3.15%

1829
4. 27

Correct Answer :-



e 16.66%

45) Area of square with diagonal 82 cm is: /8" ¥ i@l ard o°f &1 d3wa @
P

1. 64 cm?/ 64 JHi2
2. 56 cm?/ 56 JHI2
3.29 cm?/ 29 Jw2
4.128 cm?/ 128 T2

Correct Answer :-

« 64 cm?/ 64 JHI2

46) A man can do a piece of work in 5 days, but with the help of his son he
can do it in 3 days. In what time can the son do it alone?/T® afa f&dt wrd
®1 5 3 o &% Toar 8, Afe ova g7 it Tgar A Jg A Fm Bt 3 i A pr qar g,
T 3Bl 39 $TH B! fraq i1 § R1 H7 a1 82

1.7.5 days/7.5ﬁ:[
2. 8 days/8 a1
3.7 days/7 a1
4. 6 days/6 faa

Correct Answer :-

. 7.5 days/7.5f¢H

47) Which place is famous for sarees?/ w@ﬁ%ﬁqaﬁqﬂmm%?
1. Khandwa/ T&dl

2. Orchha/ 3R®T

3. Chanderi/ 9t

4, Maihar/ﬁ%?

Correct Answer :-

« Chanderi/ Tt



DIRECTIONS: In the question below are given few statements followed by
few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ'-'{r: ﬁﬁqwuﬂﬁﬁ$ﬂ?&ﬁ?m
a1 $o frepd fau e g1 sy AT T Sy & I AT @ YA 81 3 Tdga aa S i
Udid gid 8 1 It et @1 ufeu fibr au Fifeme f fau e faseul & F Hi9-a1 feed 2w e
HYHI BT TG U F IRV BT 8, IS TI7Td a0 $© o |

Statements:/ HY:

All books are tables./ 94} fdrd, 2 g1

Some tables are desks./ Wéﬁ?{, @W%'I

Conclusions:/ ﬁwﬁf:

I. Some desks are books./ T 33®, fad 1

II. All desks are tables./ 94 3%, ¢ga &l

III. No desk is book./ Hﬁi@'@ﬁﬁlﬁﬂﬁ%l

1. Only I follows/ Had fA5hY I 3IERU HRT &

2. Only either I or II follows/ %ad a1 dl I TT 11 3AR0T &l &
3. Only either I or III follows/ %a@ ATAN I AT 11T TR HRT &

4. Only either II or III follows/ %ad AT dY I TT 111 3FIER0I HRT &

Correct Answer :-

« Only either I or III follows/ %ad AT al I AT 11T ARV BT §

49) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi‘\’rz ﬁ%ﬁEWWﬁW$ﬂ?3ﬁ?m
1 $© Frepd fa 1T &1 3y faT T Sy & I U1 @ YA 81 3 Tdga aa S i
wofta gia gf | it ot &) ufew fbr aa Fifere % faw e et & @ w9 fAsed fg e
FYA! BT TG U F SRV BT 8, TS TI7d a2 $© o |

Statements:/ HYH:

Some shirts are socks./ & ¢, WA &
No sock is red./ ®Is HIWl, AT 81 &1
Conclusion:/ ﬁWﬁf:

I. Some socks are shirts./ Wtﬁﬁ, ‘\’Rf'%'l
II. No shirt is red./ ®I% XC, AT 781 & |



1. If neither conclusion I nor II foIIows/qﬁ?ﬁﬁEFBfI TRl 11 &WW%
2. If only conclusion I foIIows/H%WﬁWﬁfI &I_:J}ITUTW%

3. If only conclusion II follows/ af¢ Had FsHY 11 &HHTUTW%

4. If either conclusion I or II foIIows/ZlﬁZITFﬁﬁWEfI gqr il &WW%

Correct Answer :-

. If only conclusion I follows/ Tfe &ad s I 3aR01 o3l §

50) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi"\’rz :ﬂ%ﬁETrEWﬁW$WGﬁTW
16 0 fswd far e § 1 3wl 3T T =l & I U= @ Ha € 9 dya 9l | e
wofta gia f | it st &) ufew fbr aa Fifere f faw e fArseut & @ e fAsed fg e
HYH BT THHITT TU Y STV AT 2, I8 FI9d 9 50 W &1

Statements:/ PY:

Some trees are roads./ S U, SH 2|

All roads are stones./ 94l Is&, TR 2|
Conclusions:/ﬁ'@ﬁf:

I. All trees are roads./ H’*ﬁﬁ?s’, W%I

II. Some stones are trees./ P9 U, ﬂS%I

III. No stone is tree./ ®Is URR, U gl &1

1. Only either I or II follows/ %ad AT Al I AT I1 3IER0I HRT §

2. Only either I or III follows/ a@ ATAN I AT 11T 3IERI BT §
3. Only either II or III follows/ %dd a1 al 1T AT 111 3FJER01 Rl §

4. Only 1I follows/ Had 11 3IERUI T &

Correct Answer :-

« Only II follows/ %ad IT 3FJERUI BT §

51) DIRECTIONS: These questions are based on the basis of following
information. Study it carefully and answer the questions./ﬁi“\’r: g UM
Frafafad Ser w® snufed 3159 I 9 ufeu 3k UMl & Iqax ifm|

A, B, C, D, E, F, G and H are sitting around a circle, facing the centre. E and G
always sit next to each other. D sits third to the right of C. F sits second to
the left of H. C never sits next to A while D never sits next to G. H is not the



neighbor of D and C./ A, B, C, D,E,F,G3TH &= &1 3R §g & UH g & R 3R
Y EURIE IR G TN TS g b APHec I6d 1 D,C F A NI UM R ISATZIF, HF
TCIAGTNVIFARIGATZI C FW M A F A A R AG dearg Tafs D FW i &
AT VI R 81 98aT1 81 H,D 3R C T Ui A8 81

Who sits between A and D?/ A 3R D & &9 19 dod18?
1. E
2.F
3.C

4.B

Correct Answer :-

52) In which year was the Gwalior Light Railway from Gwalior to Bhind

started?/ WIferaR & s a9 1R @1ge Yad & 3reend fea ad § g5 &2
1. 1901
2.1903
3. 1899
4. 1897

Correct Answer :-

« 1899

53) In which year was the Slave Dynasty founded?/ @™ a1 foody 9 & wifia
g uT?

1.1210
2.1208
3.1204

4.1206

Correct Answer :-

54) In which year did Dr. Vishnu Sridhar Wakankar discover Bhimbetka?/
e af 4 sto faw] MR arHvreR A udes @1 @i o112

1. 1957



2.1958
3.1960
4. 1959

Correct Answer :-

« 1957

55) In which year did Kailash Satyarthi win the Nobel Peace Prize?/ frgad#
Far=r gardf A ea i REPR S 412

1. 2014
2.2012
3.2015

4, 2013

Correct Answer :-
« 2014

56) The ratio of present ages of Geeta and her mother is 1: 5. After 7 years
the ratio will be 3: 8. What is the present age of Geeta? /41 3R IS AT F1

AT ST BT SJUTT 1:5 71 7 9 916, Ig 3JUTd IGAPR 3:8 1 SATG | a1 B qerAH 3mg
T E?

1. 7 years/7 ay
2. 6 years/6 L
3.5 years/5 G

4. 8 years/8 ay

Correct Answer :-
« 5 years/5 G

57) The ratio of two numbers is 3: 8 and their difference is 115. The smaller
of the two numbers is: /3l T30l BT 3JUT 3:8 T 3R I9T 3R 115 g, 379 9 B
AT JTd B |

1.194

2. 69

3.59

4,184



Correct Answer :-

58) A 75 metre long train is moving at 20 kmph. It will cross a man standing

on the platfrom in:/T&% 75 e Tl Yerms), St 20 bt/ ger &t nfa J 9 6 8,
WewH R TS U Afed I UR B34 | foba=r a0y A

1. 14 seconds/14 &S
2.15.5 seconds/15.5 96
3. 12 seconds/12 &S

4.13.5 seconds/13.5 ¥&S

Correct Answer :-

« 13.5 seconds/13.5 ¥&S

59) Bhoorsingh the Barasingha is the official mascot of — / YRRig IRR¥ET HA-
| TP ST BT ATUBTRS FHPR 72

1. Panna National Park/tlﬂTTI@TlB?]W

2. Pench National Park/dd I8 3emM

3. Kanha National Park/ﬁ%TT@HBEIFT

4. Bandhavgarh National Park/ SitaiTg I§1a e

Correct Answer :-

- Kanha National Park/ &gl 31 I

60) ((0.1)% — (0.01)? B
{ 0.0001 }+ 1=?

1.110
2.100
3.1010

4,101

Correct Answer :-

- 100



=] 729

N 0.4096

1.13.6
2.5.625
3.0.5625
4,182

Correct Answer :-

e 5.625
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63) The HCF of two numbers 12906 and 14818 is 478. Their LCM is:/&l @AY 12906 3T 14818 BT
HY.478 ¢, A A.9. AA B}

1. 800172
2. 200043
3. 400086

4. 600129

Correct Answer :-

« 400086



IfA:B=2:3,B: C=2:4and C:D=2:5,then A:D is equal to:/Af¢ A:B=2:3,B: C=2: 4 3[R C:D=
2:5%,d A: D fFad R 3

4.2:15

Correct Answer :-

e« 2:15

65) The speed of a bus is 72 km/hr.The distance covered by the bus in 5 seconds is:/TP dH CARIIG

72 fordft/eieT 8| 999 gRT 5 Adhs W a9 o1 TR gt Famw|
1. 60 m/60 H.

2.74.5 m/74.5 9.

3. 100 m/100 .

4. 50 m/50 HI.

Correct Answer :-

« 100 m/100 HI.
66) CANCELLED

The first organic compound to be synthesized in the laboratory was?/ fada
DA P -o RS € o Tduuw va=mer § w<afta far ma ure?

1. Urea/ OiffTe

2. Tartaric acid/ TERD 3
3. Ethylene/ TYIEfeH

4. Acetic acid/ THIfCH 3

Correct Answer :-

. Urea/ Offl&

67) DIRECTIONS: Choose the odd one out from the given alternatives./ fa2r: fau
¢ faseul ¥ ¥ fauy 2reg gHT:

1. VTC
2. HOG

3. LQN



4. DHG

Correct Answer :-

« HOG

68).The national chemical laboratory is situated in?/ w@uww%utﬁm
Pel fRG 8?2

1. New Delhi/ T&F%('_vﬂ
2. Pune/ gr?r
3. Bangalore/ éTITj\"T

4, Patna/ UcHl

Correct Answer :-

e Pune/ Ef?f

69) A little ether on the palm gives a cooling sensation because ether?/ BIdl

W U B AT §UH WSS UG el § N [Db?

1. Enters the pores of skin/ %W%%ﬁﬁmmwg
2.1Is a cold liquid/ U8 T% 3S15d §

3. Evaporates/ JTHUT & HRUT

4. Condenses on the palm/ EaFﬁERH‘JﬁHﬁGﬂ?IT%

Correct Answer :-

« Evaporates/ arSfi&RUl & HRUT

70) One of the organs excretes water, fat and various catabolic wastes is

the?/ &I | 3T § oY SHfaf¥® STa, a1 T 37 UAH SRy W a1 FAwTeran 82
1. Lungs/ g

2. Skin/ ddl

3. Salivary glands/ g UfaT

4. Spleen/ witgl

Correct Answer :-

« Skin/ @l



The image of an object formed in a plane mirror?/ Wmmﬁuﬁlﬁﬁfﬂ

foymrfor gt € a1 graT &:

1. Is slightly shorter than the object/ fiis Q gep T BIeT BT &
2. Is real/ IRAId%® BIdl o

3. Is virtual/ 3THRA g1 §

4. Can be obtained on screen/ U%WWGTW%

Correct Answer :-

« Is virtual/ 3MHRA AT

72) Kashiv starts walking towards South. After walking 15 metres he turns
towards North. After walking 20 metres, he turns towards East and walks 10
metres. He then turns towards South and walks 5 metres. How far is he from
his original position and in which direction?/ F1R1d, 301 #1 3R T YRY HaT
21 15 Wi Ie1 & 916 98 SR B 3R g3 ST 81 20 Hex e & 916 98 d @1 3R g3a1 @
3R 10 ez gaa §1 98 bR a0 3 ok a1 § 3R 5 ez gaar 31 97 oo+ arafd®
fRufy @ frait gr ok fpa feam # @2

1. 10 metres, South-east/ 10 Hicy, RT\&FUTEIﬁ
2. 10 metres, East/ 10 4 X, Uﬁ
3. 10 metres, North-east/ 10 4 X, Bﬂ?-tng

4. 10 metres, West/ 10 4 cy, gfgy

Correct Answer :-

. 10 metres, East/ 10 Wi}, T4

73) Drinking soda is?/ = o JeT g g
1. An oxidizing agent/ TS HRHRD dd

2. Basic in nature/ &ﬂﬂﬁﬂ?ﬁl%

3. Neutral/ ARG

4. Acidic in nature/WE@ﬁ%

Correct Answer :-

« Acidic in nature/3&id Ul &

74) The type of mirror used in the head lamps of car is the?/W%GIﬁmﬁ
Au(@TSe) § P UUT BT IUURT fhaT SIrdn



1. Spherical concave mirror/ afghd 3ddd gUul
2. Spherical convex mirror/ afghd 3T gUUT

3. Plane mirror/ ?IWE‘TTUT

4. Parabolic concave mirror/ GRATAAIR R Hddd gy

Correct Answer :-

« Parabolic concave mirror/ GRATAATHR 3Hddd sl

75) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ fAdar: fAufeRag fawea &
¥ 98 g A SN AT 1T 21sg & 31eRY &1 TaRT HPb 81 a141 off Il g

REASONABLE
1. NOBLE
2. ARSON
3. BONES

4. BRAIN

Correct Answer :-

« BRAIN

76) DIRECTIONS: Arrange the following in a logical order:/ A fE S e
3yquf HH § afRd H1

(i) Birth/ =
(ii) Death/ 4g

(iii) Funeral/ 3ifd¥ ¥R
(iv) Marriage/ faars

(v) Education/ fRréf

1. (i), (iii), (iv), (v), (i)

2. (i), (v), (iv), (ii), (iii)

3. (iv), (v), (iii), (i), (ii)

4, (ii), (iii), (iv), (v), (I)
Correct Answer :-

° (I)I (V)I (iv)l (“)I (”I)



77) The best example of an ecological community is?/ mqﬂa‘m?ﬂ
HaIaH 3ETeR 5

1. All the people in India / URd &1 THXI STGBAT
2. All the whales on earth/ 31 Gl tR el areil ot
3. An oak tree/ a?ra??ﬂq&r

4. A meadow/ 1Y BT AGH

Correct Answer :-

« A meadow/ 1Y BT AGH

78) The disease ‘beri-beri’ is caused by the deficiency of?/ a3t a3 I7T fHaa!
FH | a1 8?

1. Vitamin B/ faerfe= st
2. Iron/ FﬁET

3. Iodine/ 3MAITS

4. Hormones/ gTHINI

Correct Answer :-

. Vitamin B/ fderd= st

79) If Ram is in the West of Shyam and Kareem is in the North of Shyam, in
what direction is Kareem with respect to Ram?/ afe I{, W $ U3 A § 3iv
I, WA & IR A ¢ a1 HW, IM S fra fezm A g2

1. South-east/ E{f\&lUT—qﬁ
2. North-east/ BER—Uj
3. North-west/ ScR-Ufgd

4. South-west/ <l&mor-ufgH|

Correct Answer :-
« North-east/ 3@2—9@‘

80) Quinine, the commonly used drug for malaria, is obtained from a plant.

What part of the plant yield the drug?/ Wﬂ?mﬁmﬂﬁﬁmwm
3wl € e U & fohg WRT | U g &

1. Fruits/ ®d

2. Bark/ BT ¥



3. Leaves/ gfyar

4. Root/ SIg

Correct Answer :-

. Bark/ 3@ Y

81) Jaundice results from malfunctioning of the?/ Wiferar & fra 3T &1 &Rk
yHIfad BT &

1. Lungs/ aﬁl?b%
2. Kidney/ ga®

3. Stomach/ 3THIRI™I

4. Liver/ 9d

Correct Answer :-

« Liver/ d&d

82) The prairie is?/ Wa AT §?

1. A grassland without trees/ ﬂgﬁ%ﬁﬁaﬁwﬁm

2. A local community in Australia/ 3Rcfer &1 &1 T
3. Name of a King / U TSI T AH

4. An area in South America on the side of river Amazon/ cféror AT | &I'ﬁ\—,:ﬁ:[ﬂ"cibf%
frTR 71 &7

Correct Answer :-
« A grassland without trees/ US fagiH 919 &1 AgH

83) Woolens keeps us warm in winter because they?/ &l U 2fid B # g0
TRY ¥@d g Fifes?

1. Are good absorbers of heat/ Wai&@&ﬁﬁﬂw@ﬁ%

2. Produce more warmth/ 3if¥e Tiff Iad #vd §

3. Do not allow our body heat to escape/ T IRR Y S DI d16% Ta] o o
4. Do not allow cool air to enter/ 38! §d1 ®I &R g1 3 &d

Correct Answer :-

« Do not allow our body heat to escape/ T IRR Y S B d16% a! o o



84) What is the pH of Hydrochloric Acid?/ T3S dale® 3% HT pH HIF T gl &
1.7
2. More than 7/ 7 T 3(fd&

3. Less than 7/ 7 A HH

4, Zero/ A

Correct Answer :-

. Less than 7/ 73 %H

85) Bats can fly in the dark because?/ Wﬁ&géiﬂ?{ﬁﬂﬁmﬁ@ﬂ?ﬁﬂ%
RfP:

1. They are guided by ultrasonic waves produced by them/ 91 W4 & gRT 3904 &1 Tt
RIEd ¥ IR Sl &

2. Any bird can be do so/ ﬁélﬁq&ﬂﬁﬁwﬁ
3. The pupils of their eyes are very big/ W&W@ﬁmmﬁﬁa@%ﬁ?ﬁ%

4. They have a better vision in the dark/ 3% UM 3R & 33} €2l BIdll &

Correct Answer :-

« They are guided by ultrasonic waves produced by them/ al X8 & gRI 379d B! 741
TRTEA A IR STl §

86) In which of the following elements which isn’t included in structural

elements/ 9 & | FI AT 97 WIS dwal § g1 T2
1. Cadmium / HefHad

2. Carbon/Te

3. Oxygen/ HTfaRTe

4. Nitrogen/-T3cIe

Correct Answer :-

« Cadmium / HSFaH
87) Which one of the following is a true fruit?/ 9 # @ S99 U6 I Bd 2:
1. Pineapple/ 3™

2. Apple/ 99



3. Coconut/ ATRId
4, Cashew nut/ &1

Correct Answer :-

« Coconut/ Tiad

88) A and B both are children of C. If C is the mother of A, A is the son of C
but B is not the daughter of C, how are A and B mutually related?/A AR B

IAigic FTAE| afCc, A FIATE, A, C FTTAEWRIB, C BT SIS, A 3R B
3T ® 5 yaR awEfid 82

1. A is sister of B/ A, B Elﬁ?ﬁ:f%
2. A is the nephew of B/A, B W‘J-I?ﬂTrﬂ%
3. A is brother of B/A, B BT HE §

4. A is cousin of B/A, B WEF%F[%‘

Correct Answer :-

« A is brother of B/A, B BT HTS §

89) Of the following substances, the one that cannot be used as an

insecticide is? /9 & @ 17 91 TR § R Fleam=e & wu A SuahT T8 foar o awar:
1. Gammexane/ THSIH

2. Bleaching powder/ Fvﬁﬁﬂ'[ﬁ@f

3. DDT/ SISI

4. Malathion/ ARG

Correct Answer :-

« Bleaching powder/ ST goi

90) When a ship enters a sea from a river?/ wﬁémwﬁqﬁﬁmm%‘
dd:

1. It rises a little/ TSI IR AT ATAT &

2. It rises or sinks depending on the material it is made of/dg WX 3T W@Tﬂ,m
gered &1 1 ], 39 a1d R R S

3. It sinks a little/ 98 41T S& ST &

4. It remains at the same level/ I9H R A |aT g

Correct Answer :-



. It rises a little/ USTSHUR 31T ST &

91) How many circles are there in the following figure?/ 1% 3m&fa A g« @t
T fea-t g 2

92) Sharbati Sonora refers to?/ e T T SR |/
1. The name of fruit/ T T dhI HMH

2. A variety of wheat/ Wﬁﬁﬁﬂ\_ﬂﬂﬁ

3. A variety of rice/ T &1 I USTTid

4. A hybrid variety of maize/ A®d P G d TSI BT 19

Correct Answer :-

« A variety of wheat/ wﬁgﬁwﬁ

93) Hydrochloric acid is made up of the elements hydrogen and?/ F[E@Tﬁﬁﬁﬂ?
3 o1 fawfor grgg o 8k fhae! firem W gar §:

1. Carbon/ PHIa
2. Chlorine/ FARM
3. Iron/ @&l

4. Sulphur/ dehy

Correct Answer :-



. Chlorine/?ﬁﬁﬂq

94) The universal recipient blood group is?/ W@WWW@W%‘?
1.0

2.A

3.AB

4.B

Correct Answer :-

95) Radioisotopes are?/ ATHPIT RIS gId §:
1. Isotopes used in radio sets/ ARIE ST e §9H A ITANT B §
2. Isotopes that are radioactive/ 3 TP w0 I Gipa g

3. None of these/ SWRIgd H I or>\|$r=|3°f

4. Some nuclei which emit radiowaves/ $& 1w ASARI ITT BT &

Correct Answer :-

. Isotopes that are radioactive/ d THGII =0 T TihT BId &

96) The chief constituent of Gobar gas is?/ Tﬁﬂ?ﬁﬂmﬂ'@mm:
1. Carbon dioxide/ Te S8 SidASS

2. Methane/ 0K

3. Ethylene/ TYTSfeH

4. Acetylene/ TRl

Correct Answer :-

« Methane/ e

97) Study the two different positions of a cube given below with dots from 1
to 6 marked on its faces. Find out how many dots are contained on the face
opposite to that containing 4 dots./ ﬁﬁquaﬁam-m@:ﬁnﬁm

e ®, o v R Rk 1 9 6 3iw & 1y fag Hivg 81 319 &3 % 4 fogei & vaw
¥ fyudia & fea fig 2



¥ &

1.2
2.3
3.5

4.1

Correct Answer :-

3

98) The device used for converting mechanical energy into electrical energy

is called a/an?/ 9 & ¥ &1 91 33 Tifi® Sl o fRwga St & uivafda sar g:
1. Transformer/ TRIBRAR

2. Dynamo/ 3i3-HI

3. Cell/ BIfRAbT

4. Electric motor/ ﬁ’ﬁlﬂﬁrﬁﬂ

Correct Answer :-

« Dynamo/ SIERE|

99) When 60 is subtracted from 60% of a number, the result is 60. The
number is:/fHd TSP 60% A A 60 T W URUITH 60 3T 8, df BT T 82

1. 200
2. 180
3.150

4.120

Correct Answer :-

« 200

o'

100) If '+’ means'-', '-' means 'x', 'x' means '='and ‘=' means '+’ ,then2 - 6 x6 =+ 2 =?/ gfe "+
T, B e, e dET e U s wr e+ a2+ 6x6+2=7?

1. 10

2.5



3.1

4.0

Correct Answer :-

e 5



